=80
SE0 AN (Lt )
Sed 2 (CHo]: Mol
SRR L HIRA - B o v ] bl D2
=R 899,005 642,002 257,003
S0 Al (2ErE 726,196 471,650 254,546
=30 2 222,5%6 181,650 40,946
A2 7,700 7,700 0
201 LB 7,700 7,700 0
02 2229 7,700 7,700 0
oze 8 1,500,000 14! 1,500
Oduen| | SXE4H|
200, 0002 +6CH 1,200
oxz 8 5,000
-8 2,000,000 *2CH 4,000
— =X 1,000, 00024*1CH 1,000
EEEREE 9,532 1,160 8,372
101 Q124H 5,888 0 5,888
04 I 22X EE S 5,888 0 5,888
OdtH 76,9602 %1%%702 5,388
OBHAS 500,000 *1 Al 500
206 M=l 2,604 120 2,484
01 H2HI 2,604 120 2,484
AT 5,000 x6ZE+43] 120
OBtHE 2,484
-3 1,92021%200 £ 384
—SHAHA 3,5002%600 £ 2,100
307 2I2H0IA 1,040 1,040 0
01 9227 1,040 1,040 0
oozl 15,0003+ 12& 540
OHN Al 500,000 %172 500
2ots X2 58,560 55,680 2,880
201 L2y 58,560 55,680 2,880
02 232%H 58,560 55,680 2,880
ogers 6,0002+610S+12& 43,920
O=ets 60,0002 x6105+40/100 14,640
S 20TV R 2,640 2,640
201 Yt 2,640 2,640 0
2 2329 2,640 2,640
@IF=F1
5,00024*330H* 122 1,980
@I[=
50,00024*33CH*40/ 100 660
2EIA5} 33,750 10,104 23,646
101 o1A4H] 21,244 4,397 16,847
04 JI2HHIZEX 21,244 4,397 16,847




2A: 28
NI ZE0 A (LLIBTHE/UBIEN)
el SEd 2l (chel: & 2l)
S - B - ORI(3]H) - HISAR - BaS 01l kot ] HIDE2
OZNSFH|, HAXFH|, S FHEH 02
76,9602 52 x4 2533 4,618
OZYAMXISA(CIAY) HelI2 = S3F|
eIFe 76,9602 x5%x22x335] 2,309
O=EIAGAIY (2L, ZHX2AE]) o182
76,9602 x4 x5 x335] 4,618
OJt2Y ZAIILIR 22| o1l 2,772
— &7 76,9602 % 12x202 13 1,540
—SHSo0 2 76,9602 x2 3 x4 214235 1,232
OFRc2H 2 JG2AA Mg ZH|D| ol
76,9602 x2 2 x152%33] 6,927
201 L2 A 1,400 1,400 0
01 AFR2t2IHI 800 800
OuWIF Dl ==2lbl 150,000 %2CH*138] 300
OJ2I| Y =H| Axt
50,0004+ 103 500
02 2229H| 600 600 0
OZ231EA 22208
50,0002 %64 A#23] 600
206 &l 11,106 4,307 6,799
01 XSl 11,106 4,307 6,799
OZ2 o XHX =&z 1,280
—HE0 YA 2H P
20,0002*35+33 180
—&lH] 2 Hg 7
10,0002 x40 23] 800
—=IER 7Y 20,0002 *3Z+53] 300
O3 FA FAET 7Y
20,0002 %2&23] 80
OZHIDI RFH 1,92021%300 £ 576
OEZHDIZ oFD| 2Y 7
3,000 %501 150
OZARILIR AlX|2t2) 2,320
—HE YN 2H P
4,0002*70 %43 1,120
—&lH] 2 Hlg 7
10,0002*60 E 23] 1,200
OZ AR 2¢ 10,0002%100= 1,000
OEI=0l S F(AAIAR)
5,000 *6000H 3,000
OCHEA 22 TAAFA 2,700
—Sk T 3,0002*2g*250 4 1,500
—&€lH] 2 Hg 7
10,0002*60 23] 1,200
S0 KN 29 8,900 8,900 0
201 L2 A 8,900 8,900




2 28
NI ZE0 A (LLIBTHE/UBIEN)
el SSY 2| (CHl: X 21)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
01 AFR2t2IH] 2,400 2,400 0
ZOIMRIME ARE P ¢
200,000 %12 2,400
02 2229H| 6,500 6,500 0
02223 2 MAl 6,000
—HMII22 400,000 %12 4,800
—AEIAEE, ®3t, Sddss
100,000 * 122 1,200
OAHE L AIEEH SXI24H|
500,000 * 14! 500
EXV PR 101,514 95,466 6,048
204 Z 24 AHH| 2,400 2,400 0
03 S| 2,400 2,400
oNegazed 100,0002 2+ 122 2,400
301 LBIEAZ 9, 114 93,066 6,048
07 S& - 01 - BHEBSEAZ 92,490 87,090 5,400
O0l& g 84,240
—J|24y 300,000 %18 * 12 64,800
-0z 300, 0002 * 182 %200% 10,800
— 3| E At
20,0002 %18 * 12 *23] 8,640
OpHag 50,00024+57% 2,850
O0ISZ SAlHl X
25,0002 %122+ 18 5,400
11 BALAHIXIR S 6,624 5,976 648
O2le8iol £9| S 3|EAX SA!
8,0002+54 %122 5,184
OXIHRECAl L20iH| 24 & HAH|
90,0002 *8H =23 1,440
ATD FOIHOIANY 503,600 290,000 213,600
ATD FOIEHOIALY 503,600 290,000 213,600
401 AlZHIZL 20| 503,600 290,000 213,600
01 Al&H] 500,000 288,000 212,000
OARRD Z=DIHAIAIY 500,000
—S4HR2| HH22 HHIBA
150, 0002 % 180m 27,000
—SA22] HH42 HHIBA
150,000/ *170m 25,500
— AR SREETA
250,000 % 118m 29,500
—Q8 12| 52 HHIBA
150, 0002 * 180m 27,000
—Q822| Hi42 HHIBA
150,000 % 180m 27,000
— Q32| AMHAH|ZAL
350,0002%75m 26,250




2N =8
M ZH0 AR (LBIBIUT/AHHT)
SRl AR FOHAAS (crel: M)
SA - FH . ERI(B) - HIRAY - A il ko ] HI D=2t
—2842| =2 ZHISAt
150,000&*180m 27,000
—CHE=12l =2 EHISA
150, 000-&*180m 27,000
—Oi=2e| =2 HHISAt
150, 000-&*180m 27,000
—5t&e| AHHEHISAL 350,000 *75m 26,250
—S&12l =2 FHIZA
150,000& *160m 24,000
— 22| SRLIBAF
250,000& *100m 25,000
=12l =2 FHHISA
150, 000:&*170m 25,500
== X2e| =2 FEHISAt
150, 000-&*170m 25,500
—L- 32| th==2 EHISA
150,000& *170m 25,500
—otE12l AfHEHISAL
350,000 *70m 24,500
—otE22] =2 EHISA
150,000& *150m 22,500
—0FE32] AFHEH|Z2AH
800, 000& *45m 36,000
—CRFSEE U 42 ZHIBA
120,000& *100m 12,000
—C29 /E+= WA
10,000,000 * 14 10,000
03 AIE20HYI 3,600 2,000 1,600
OARE FHEHAAY AIEL0Y]
3,600,000 14 3,600
HY2AFH(SSH) (DIEHIIE 172,809 170.352 2 457
oI 2HH| 67,315 66,238 1,077
olA2HH]| 67,315 66,238 1,077
101 2124d| 67,315 66,238 1,077
01 2 67,315 66,238 1,077
OAlIZte 22+
11,130 % 14H+36 A2t 122 67,315
J|l=2&| 105,494 104,114 1,380
J|22Z| 105,494 104,114 1,380
201 2Bt23H| 44,294 42,914 1,380
01 At=22t2ldl 33,690 32,310 1,380
O=ANEX 7 20,0002 x 158t A« 12& 3,600
OEZ20HAlH| 8,000 «4A! %153« 122 5,760
OF 100,000 * 122 1,200
OAFRE TA72HI 50,000 x12& 600
OarR 24| 7,200




2 28
I AY2HAYI(SS)(JIEHIIE
Sl Jl2d| (crel: M)
SA - B . SRS - NRAY - BaS Ofl e ] DS
=N TRESE] 500, 00024 *1CH 500
—Z2lED| =cl 100, 0004 *4CH*50/ 100 200
—=SAD| EY 200,000 %53+ 1CH 1,000
—TEIED| EH(EH)
200,000 %53 x4 CH 4,000
—TRIEDIEH(Z)
200,000 x33]*1CH 600
—PC 22| 100,000+ 15CH*20/ 100 300
—J|EF 24l 50,0002 % 12 600
OJIEH AFRZH2IH 5,000 %158+ 122 900
O - ==Y 14,430
-3 60,0002« 12* 116 6,960
—=7 30,0009 * 1242492 7,470
02 2229 10,604 10,604 0
ORERZ 135,000 * 122 1,620
OFA 2222 < HMA 8,984
—&AN JI22 630,000 12 7,560
—H)| HHFA p42
100,000 <23 200
—ABIAER2 70,0002i* 12 840
—FEUE MEZ 32,000 122 384
202 O] 48,600 48,600 0
NENCED 48,600 48,600
OZLo] 20,0002 * 15 122 12 43,200
O 04| 90,000+ 153 x4 5,400
203 L2 EZIH| 10,200 10,200
01 | 22U 6,600 6,600
OSE J|22HARETH|
6,600,000 %1% 6,600
02 HRAIIAAD I 600 600 0
OFIMILREZIH| 40,0002 %152 600
04 ENSHADLEAIH 3,000 3,000 0
ORAN2IAREH| 250,000 % 122 3,000
204 Z 24 AH| 2,400 2,400 0
01 ZHZ AR LA 2,400 2,400
OXHBARLMAH| 2,400
-y 150,000 % 12122 1,800
—FH 50,0002+ 1212& 600




